HY-PRO

4ft6 Electric Air Hockey Table.
Assembly Instruction

HP05214

WARNING: Choking Hazard - This product contains small parts.
Not suitable for children under 3 years.
- Caution! Adult assembly required.
- Sharp point on screws; unpack and assemble with care. Keep small parts and
polybag away from children during and after assembly.

IMPORTANT!

Please keep your instructions. Before attempting assembly, please read through this
instruction book to familiarise yourself with all the parts and assembly steps.

We recommended that two adults assemble this game. Please refer to the Parts List inside
and be sure that all parts have been included. You will need a spanner and screwdriver
(not included) to assemble.

If you have a problem with this product we want to help,
for assistance, please call +44 (0) 800 731 0006



Parts List:

3x8mm Screw

4x15mm Screw

4x12mm Screw

PRE-INSTALLED PARTS

Apron Corner

Assembly Tips:

1 - Please read the instructions carefully, and follow all assembly, operation and safety instructions
properly in order to avoid damage and injury. For the assembly, at least two adults are required.

2 - Some figures or drawings may not look exactly like your product. Please read and understand the text before

beginning each assembly

step.




Assembly instructions:

ASSEMBLY INSTRUCTIONS:

1. Find a clean, level place to begin the assembly of your Air Hockey Table. The table will be assembled upside down and
then turned over on its legs once the assembly is completed. This game table is heavy, and turning it over will require
at least two strong adults.

2. Remove all the parts from the box and verify that you have all of the listed parts as shown on the parts list page.
Carefully cut or tear the four corners of the box so that the bottom of the box can be used as your work surface.

STEP 1:

3. Place the Mainframe (#1) face down on a clean and flat surface. Attach the Right Legs (#2) and Left Legs (#3) to the
Mainframe using three Bolts (A1) and three Washers (A2) per Leg. See FIG. 1.

4. Screw the Leg Levelers (#12) into the bottom of each leg.



STEP 2:

@ X 2
®) X 2
@ (s> X8
@ {w Xx12

5. Attach the End Leg Panels (#4) to the Legs using six Screws (A6) per End Leg Panel. See FIG. 2.
6. Attach the Side Leg Panels (#13) to the Legs using four Screws (A5) per Side Leg Panel. See FIG. 2.

7. Attach the Electronic Scorer (#5) to the Scorer Supports (#6) using one Screw (A3) per Scorer Support.
See FIG. 3A.

8. Attach the Connect Box (#7) to the Mainframe (#1) using four Screws (A6). See FIG. 3B.

9. Thread the wire from the Goal Boxs (#11) through the openings of the end aprons and supports of the playfield to
insert the Wire into the Connect Box (#7). See FIG. 3B.

10. Lift the table assembly from the floor with two adults, turn it over, and set the table on its leg in the location where
you will play. Go back and make sure that all connections are tight.

3



11. Attach the Goal Boxes (#11) to each End Apron using three Screws (A6) per Goal Boxes. See FIG. 4.
12. Attach the Electronic Scorer (#5) to the Mainframe (#1) using four Screws (A6). See FIG. 4.

13. Thread the Wire of Electronic Scorer (#5) through the opening of the Side Apron to the Connect Box (#7), and then
plug the Scorer wire into the Connect Box (#7). See FIG. 4A.

15. Insert the Adaptor (#10) into the Fan (P1). See FIG. 4B.




Electronic Scorer Operation:

Battery Warning:

. Should not connect to more than the recommended number of batteries.

. Non-rechargeable batteries are not to be recharged.

. Rechargeable batteries are only to be charged under adult supervision.

. Rechargeable batteries are to be removed from the product before being charged.
. Different type of batteries or new and used batteries are not to be mixed.

. Batteries are to be inserted with the correct polarity.

. Exhaused batteries are to be removed from the product.

. The supply terminals are not to be short circuited.

O~NO O, WN -

Please note:

A. Batteries must be installed according to the correct polarization (+ and -) required.

B. Please clean the battery contacts and also those of the device prior to battery installation.

C. If the game will not be used for a long period of time, we recommend that the batteries
should be removed.

1. Install Batteries
Battery Box: Remove the battery cover and insert 3 “AAA” Batteries into the battery box. ( Batteries not included)

When HOME / VISITOR indicates “0”, the game can start.

2. When the “HOME” player scores a point, the “HOME” indicator will show 1 point; when the “VISITOR” player scores a
point, the “VISITOR” indicator will show 1 point.

3. The first player to reach 10 points wins the game, and the winner’s indicator will stay at 9 points and flash for several
seconds.

4. After the game, you can press the “RESET” button to start a new game and the HOME/VISITOR will indicate “0”.

Note:

1. You can press the “RESET” button at any time, to set the scorer back to the beginning status.
2. You can press “ON / OFF” at any time to turn off the scorer. Press “ON / OFF” again to turn it back on.



Air Hockey Rules of Play

The Object of the Game

The object of Power Glide Hockey is to be the first player to score 10 goals against the opposing player.

Beginning the Game

A coin toss is used to determine which player starts with the puck (“serve”). The player winning the coin toss gets the
puck and begins play by striking the puck with his / her pusher onto the opponent’s side.

During Play

Players can strike the puck anywhere on their half of the playing surface. Players cannot cross the centerline to strike
the puck. If a goal is scored when a player strikes the puck from over the centerline, it does not count.

A player may stand anywhere around the table on his / her side of the centerline. Players may not stand past that line.
When the puck contacts any part of the centerline, either player may strike the puck to score.

Scoring

A goal is scored when the puck enters and drops inside the opponent’s goal.
The player who conceded the goal receives possession of the puck for the next serve.

What Counts as a Goal?
If the puck stops in the goal and has tilted into the goal box, it counts as a goal.

If the puck stops in the goal and has not tilted into the goal box, it does not count as a goal. Player can move the puck
out of the goal area with his / her hand or pusher. If the puck rebounds out of the goal, the point does not count.

Winning
The first player to score 10 points is declared the winner.

Important:

1 - This product is intended for INDOOR use only.
2 - Please do not sit, climb or lean on the product.
3 - Please do not drag the product when moving it in order to avoid damaging the legs.
4 - Please only use furniture polish spray to clean the exterior surfaces of the product.
5 - This is not a child's toy, adult supervision is required for children playing this game.

A WARNING: Adult Assembly Required.

Strong Adults Needed No Children in Do not use or keep product
Assembly Area outdoors. For indoor use only.
No wet/humid conditions.



Important Safety Instructions:

Read all instructions

1. All the safety and operating instructions should be read carefully before this hockey game
is played.

2. Power cord protection-Power cord should be routed so that it is not likely to be walked on or pinched by items
placed upon or against it. Pay particular attention to cords at plugs and the point of exit from the game.

3. Overloading-Do not overload wall outlets and extension cords as this can result in a risk of fire or electric shock.

4. Object and liquid entry-Never push objects of any kind into this game through any openings as they may touch
dangerous voltage points or short-out parts which could result in a fire or electric shock. Never spill liquid of any
kind on the game.

5. Ventilation-Openings in the game are provided for the exhaust air to create a cushion effect. The openings on
the air blower are for the intake air. Keep clear of the air blower when it is on. Do not put hands or other objects
near the intake openings. To ensure reliable operation of the game and to protect it from overheating these
openings must not be blocked or covered.

©Hy-Pro Sports

Manufactured by Hy-Pro Europe Hy-Pro Asia
Hy-Pro International Cube Building, Monahan Road, Cork, Room 1011, 10/F, Peninsula Centre,
Hy-Pro House, Centrus Park, Arenson Way, T12H1XY Republic Of Ireland. 67 Mody Road, Kowloon, Hong Kong

Dunstable, Bedfordshire, LU5 5BN, UK

Made in China
7



